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Relations trigonométriques

cos¥(0) + sin*(0) = 1

Symétries:
V4 T
a -0 0+n 7—0 0 + 27 7~ 5+
cos(a) cos(0) —cos(9) —cos(0) cos(0) sin(9) —sin(@)
sin(a) —sin(0) —sin(@) sin(@) sin(@) cos(0) cos(0)

Formules d’addition:

e cos(x@y) = cos(x)cos(y)Dsin(x)sin(y) * cos(x(Dy) = cos(x)cos(y)PDsin(x)sin(y)

e sin(x@y) = sin(x)cos(Y)Pcos(x)sin(y) o sin(x(Dy) = sin(x)cos(y)Dcos(x)sin(y)
_ tan(x)@tan(y) _ tan(x)Otan(y)

tan(x@®y) = 1&tan(x)tan(y) tan(xQy) = 1@ tan(x)tan(y)

Formules de duplication:

e cos(2x) =2cos*(x) — 1 = 1 = 2sin*(x) = cos*(x) — sin*(x)
e sin(2x) = 2sin(x)cos(x)

tan(2x) = 2tan(x)
amer = 1 — tan3(x)

Formules de factorisation:

cos(x) + cos(y) = 2cos <x
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cos(x) — cos(y) = — 2sin <x

. . . [ x+
sin(x) + sin(y) = 2sin <

2
sin(x) — sin(y) = 2sin (x ;y) cos (x -2|—y>




